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2. Attempt any five questions.

3. All questions carry equal marks.
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5. Answers may be written either in English or Hindi;
but the same medium shoutd be used throughout the
p ap er.
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ffi+qnrn qTrflr? r

RSe{n'* st*qcr<i r

qrqprr +d-{+( sr&rr d rgrfr i r

En rrFr-Il;{ srstR d}fr qr frff ffi cff' "* 
1 q6q, efr-;r

rfr sai or crq{ r'o fi *<t qtBs t

(a)There are l0 workers in Australia and each can

produce either 2 computers or 30 tons of rice.

There are 10 workers in lndia and each can

produce either 5 computers or 40 tons of rice.

(i) Draw the production possibility curve for

both the countries.

(ii) Which. country has.absolute advantage in

production of computers?

(iii) Which country has a comparative

advantage in the production of rice?

(b) Differentiate between a normative and positive

statement. Are the following statements positive

or normative?

15

(q) qm mRs fr lo 3q$RI gs i too 1fi,c ts 6i

sqr*rr 6( T6I cII lrs i'Fml 3{q (looo Sl qR

3q+nr fr srq sss 1+,, ft( vrfr * A no 1B-{ tE

d cm d Grfr t, fr sra *u (me-EE frfu or

3cfrrr q.rt') d rrqnr qtr E{ cRt{q i iE ftq nq,R

6.r sflrd *?

(a) Explain the concept of payoff and equilibrium in

games of strategy.

(b) How does a tariff on imports affect the producer,

consumer and total surplus of the importing

country? State the arguments in favour of rcstricting

trade.

(c) During covid pandemic, construction workers

migrated back to their villages and at the same

time the demand for construction of houses also

fell due to uncer(ainty and loss ol income. Explain

using demand and supply diagram, how this would

have affected the market for workers and their

wages? (6+6+6)
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(c) Suppose a consumer was consuming 100 units of

apples initially when his income was ( 1000.

Calculate the income elasticity (using mid-point

method) if I l0 units 6f apples are demanded when

the income of consumer falls to ( 800. What kind

of a good is apple in this scenario? (6+6+6)

(ir) ot, t,,r rcrer flk fi i r6R t E]+ stfr qlt EIfr t
ffq tntr trr rrirr Erngr EI qt6R i[q-{ ttq€ {a'A

i clr{ *ff qR qE ffi tfr Eqq qt 6T v{rft I
ffi {r{r *{qn t?

(o) aMn torro, tfr 6] rvr*q irqoa] t ffi ot

6imr{ iqr imr ttt q?fifi rr iinrm ai qr ffi W

vtf + €Fitff t atr EB ftI E{+ nfia rq arrrt

* cnor d ffi i& c.dl+ 6r E6-fl 3{t tr retfuo

t-6rqt'N+iqrlg A6l- + ftqEnr rqndat6dr

*e t? &+ d crqR tgtr{ cnr d <rfi+ * frs so,

wgm uRe 6I Bq+.r d&qr rm lm q qmfu6'

TrI 1l 
"tr 

51 ffiW.5 SrT ( qS qRunq y1q qi€ qt

frs s6 E& Eer{r

(i) Introduction of minimum-wage law causes

unemployment in labour market.

(ii) The unemployment rate should be below

3V..

(iii) Increase in public health expenditure

will increase the overall expenditure of

government.

(c) Use the concept of Production Possibilities Frontier

(PPF) to illustrate society's trade-off between two

goods. Explain why PPF most likely has a bowed-

out shape. Show a point that is impossible for the

economy to achieve. Show a point that is feasible

but inefficient. (6+6+6)

(w) vfQ$q { ro qfto' t flk x++, q1 fi 2 qqcr ttt

30 z?r qqtr i6I YflfliFr 6{ rGfi- tr qr€ + Io qfr{'

$ qt( c-&*. cr d s 6qr< qI 40 z.r qqc rfi sflrfi

6T (6-dr *r

(i) *n *'t- + frs iFr+t lnlrFrin q* qqEAr
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(ii) 6qrt d s<r+r + tu{ t$ d pl arrr *?

iii) q-a6 d verr+ + fr'r ?$ d ga-<ro+ anr

crq *?

(e) {T+, *< t-oraso' 6'q{ + Aq gril( dfrgr qqr

ffikd .6crq qtnnrtrdfi. q1 a6al *?

(i) q.{dc }n-* or1r dr{ i} t lrc sNrR i
ttutttx tsr *fi 1

(ii) M q{ 3% t oq *fr sIBs

(iii) (ffiq-cr RRq <oi gtr$ vc+n * E" *o
t gtr *frr

(b) Most of the contagious diseases can be prevented

by taking an injection of vaccine in local hospitals.

The decision to take the vaccine is purely

voluntary and some people choose not to go ahead

with it due to the high cost involved. Whar type of
extertality occurs for vaccines against highly

contagious diseases? Use a suitable diagram to

show the market equilibrium quantity of the

vaccine. Is the quantity also socially efficient?

Suggest one method to achieve a socially efficient

4

(

outcome
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F) <) aqu) * Qq erro + tg.d-{ rn} q{fr + frs
3-trr{ qqrffi* {i frfi (ffffss,) d reqRqr Er

sc*.r qtr rcq qt fr QQqlr qr fffr rtqtltr: Efi
Eqr flI *r c)$ tsr GtE ffi ftrt utua c,,<r

sfqqwt t Rs irqqs tr vo ffS ffi * a<fi{
* ffi.{ wqFt *r
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(r) rew<un" qr scqtrr ol* qrildr d s-<rrnw 61 H€

dftsr (c*R Rrsr d qr<ur iFt;r qrgff d sftiftt-

ffi* qr cqm +t m q-+-fr t?

6. (a) Explore the relationship between deadweight

loss from tax. tax revenue and tax size. Wilt

the government be able to increase its revenue if
it imposes tax on a good which has inelastic

demand?
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(c) Explain the concept of externality using examples.

How can the government try to internalize the

externality caused by education? (6"6t6)

(w) qrr dftq fr 
"rio 

*OA*: Enn6.€ *r +i
qrqR nRsrr qtf tr qrffiq sc+ftr cR qf ro,0oo

tfrFd-{€H l, ftrq} + 4,ooo rfir wsrq *qwt
c( *fl * sk o,0oo i6r qrqr( frqr unr *r cFr dfrq
fr ilqrft t&ku-a g6m9 + +{ a-+-ffi yrrh +
qnur tffkq'c fr fuc frqil i rroo 6 ft{tq-c ff{
tr fim + ft{rrc * cr€, qnfra sqrilffir rz,ooo

tfrRqa q6.1 {, frrc} t 2,ooo +(Rr rr vf,rfrr

*i i nt{ ro,ooo srcrfrfr dil il <too d ffm +
6fi + sq+ffr sNs, vilr<6. sms *{ Ed
smq + qR{& d rruFr dfrql

(b) A technological advancement reduces the cost of
making computers enormously. Use supply_and-

demand diagram to show:

(i) What happens to equilibrium price and

quantity in the market for software?

(n) What will happen to the price and quantity

in the market for typewriters?

(iii) Whcise producers (typewriter or software)

will be happy?

(c) What are the faclors that influence the elasticity
of demand for any good? Suppose the price
elasticity of demand for good X is about 0.3 and

its current price is 60. By how much should the

government increase the price if it wants to reduce

the consumption of good X by 30 percent?

(6+6+6)

s37 5

(c) frra sk cFr fr dv-yrw +s * ft s-rt d&sr

rtr flfrs fr sft 6 frrr roo * rla uR th-s
T6' Td-+ t Tr€ d ym rco {t{ t qr*-t tzo qRE

r} vrfr ir cr.r 6 Fi{ yrEs fltq q,r a-grm oqw ok

rr ffi <qS fr y-ffr c{ tqoft tfffrst

2. (a) Calculate elasticity of demand and elasticity of
supply at the equilibrium price for the given demand

and s upply function :

Qd = 80 .6Pl Qs.- - t0 I 3p
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(sr) frs rrs crfr *( ffi v-cr + frs q-Eaq frft q{

qfrr d +{ sk sr$ fr atq { qom dfrs:

Qd=80-6P; Qs=-10+3P

(c) ffi'fffr rqR e cl'qr cil+ fr dFrd flfr cirr *
ufr il qa qS+ + frs il$-st(-cfir irR< qt

scdFr ti,

(0 ffi{r + Rq qqr + tgerd frrt sk arrl

cr an *cr *?

(ii) zEcrr{a{ d ilulrt + ff{rd sh {rfl qI IFII

A{r?

(iii) ffi ffiil (rrscrrc{ cr ffit) r$r

at?

(n) i ak-* qnm i u] ffi rfr qq d {m d nk

6] rqR( q'6 i? qrc flfrs fr qq x fr am fr
frcr flt{ 6.1111 0.3 * st{ Esff q-dqr{ *T{ co *r

qR {r6R EE x d <m d 30 rR{t( tfi IFr'II

ErFe t i] i+ frro + ffi gR 6l{ qtBs?

1l

(r) u* <rer< slulFd flffit + cft t- frRR t c-dls fu{6l

gq+{r qt6r .,u"rrf + cr<or *t qtff ir${dl 6
rrrrsr 6) Ea 6{+ * frs E-r r*-fr tr

(a) Assume India is an importer of televisions and

there are no trade restrictions. Indian consumers

buy 10,000 televisions per year, of which 4,000

are produced domestically and 6,000 are imported.

Suppose that a technological advance among

Japanese television manufacturers causes the world

price oftelevisions to fall by {100. After the fall

in price, Indian consumers buy 12,000 televisions,

of which 2,000 are produced domestically and

10,000 are imported. Calculate the change in

consumer surplus, producer surplus, and total

surplus from the price reduction of t100.

(b) Differentiate between price and cross-price

elasticity of demand. Suppose an increase in price

of burger from {40 to t44 per unit results in an

increase in demand for noodles from 100 units to

120 units. Estimate cross price elasticity of demand

and comment on the nature of these two goods.

537
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(b) What is the Tragedy of Commons? Suppose Delhi

Metro is planning to charge higher fares during

rush hours th.an during the rest of the day. Why is

it proposing such a plan'l

(c) Explain in detail the market based policies that'

government can use to solve the problem of

inefficiencycausedbyexternalities. (6+6+6)

(r) rn flfrc fr <rfroru] * frs w qrqr d ffift-d
iflr$ dtr crrr qo+ uro sFtd fuqI rrer l: QS = 3P;

QD = 200 - P Tg6{ *c-d qk ilfrfi* 6 F(.dm

rrar d wm dfrsr ffi frBs fr <t{It ct lo 6I

tnr FFTr.tT irqr *t {qr rgm frftvr Bcr* aa vm

frrc, €frEIt a( Yqil" * rr{ *ffi uk t-{ rr€ crdr

6r er rtdr +? +sa-c d( EcA d {sril SRqt

(e) air< d 
"mA 

€r i? qr< mtus fr ffi ti e{

AsreffidEa'ari a<di *+tlt 3IE6frrcr

s{d+ d *wqr i-{ rfi tr m tfi +d-{r el e<Ikd

6{ r& l?

(a) The demand (Q6) and supply (Q,) for apple is

given asi Q,r = 170 - 2P; Q,: -10 + P Calculate

the equilibrium price and quantity of apples. The

government passed -a law that introduces a

statutory minimum price for apples as {70. Explain

the resulting change in market price. quantity

demanded and new consumer surplus and producer

s u rplu s.

(b) Explain whether the following statements are true

or false.

(t) Pizza and cold drink are considered ,

complementary goods, if the ptice of pizza

decreases the quantity demanded for both

goods will increase.

(ii) A drought in the entire state raises the

total revenue that farmers receive from the

sale of rice, but a drought only in one

district reduces the total revenue received

by the farmers of that district.

537 7
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(c) When is a price floor no4-binding in nature?

Suppose that the government imposes a binding

price floor in the wheat market. What would be

the effect of this policy,on the quantity of wheat

bought and sold? Would rhe total revenue of the

farmers increase or decrease? Explain.

(6+6+6)

(e) no d qm (a,) *r irr$ (q") Er r*n fl rr{ i,
Qo = tZO - 2P; e,: -10 + p +{ d n-gd-{ *c-d st(

. 
qrfl fr {um dfrqt {.6'R + q{ s'r{r crR{ fuqr

* ts + frs {70 * sq t itnR-+ Trd{ Tm }vr

qril *r qrqn {s, cFr d qr*r uk cq sc+ftr

sfuic fltr B-flr6' flD'ic + qRqrfi qRe-d{ d qr@r

otr

(<) Ta <-<rq ft ffikd t5q;r lrs i qr wc-s,

(i) n-wT qk *d6 fro, c] Xta' sq{ itnr ur-dr l,
qe RNr 6 *f,d 6r A vrfr i + .tit cqiit

d qlrr m qrcrfrr

9

(ii) S im t Wr cglt tuilrl d qmd d frfr
t ffi srdr Etr rtil€ qd qrar *, ah-{ *q-d

s*. frrA + qer q.sit ss ftre + EEfl+ d
ffi srar E-d ri#R o-q, i qnr il

(v) ts Rr q-q +(-qrqnTt rgh tr *n t? qn dfrs

fr rrr+n tt <roR { q6 atqfit {s fin aq orft

*r qs ffi fi irrr ci ftra 61 rrt d 6 rrar w
rrqr yrfiq c}IlI? Grfli fi EiT {!rFr c.&r qr strni
qrefi i6-G[l

(a) Suppose that a market for tables is described

by the following supply and demand functions:

Qr::t; QD = 200 - P. Calculate the equilibrium

price and the equilibrium quantity of tables.

Suppose that a tax of 40 is placed on buyers.

Solve for the new equilibrium. What happens to

the price received by sellers, the price paid by

buyers and the quantity sold? Calculate the dead

weight loss.
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